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Pharmacology | ecture 4

1- One of the following is not related to
PHARMACOKYNITICS :

a) Absorbtion

b) Distribution

c) Uses

d) Metabolism

e) Excretion

2- Which of the following decrese clerans in the body :
a)metabolism

b) Absorption

c¢) plasma protein binding

3- All of the follwing icrease duration of action
of drugs except :

a) Delay absorption

b) Decrease metabolism

c) Increase Excretion

d) Using enzyme inhibitors

4- Which of the following is correct about placental barrier?

A. All lipid soluble drugs cross placenta

B. Drugs affect the embryo by the same mechanism

C. Some drugs that cross placenta are teratogenic

D. Placental barrier is perfect impermeable against small lipid drugs

answer:.c

answer: c

answer: C

answer: c



